Exercise 1
What will be the result of attempting to compile and run the following class?
          public class ifTest {

                  public static void main(String[] args) {

                  int i = 0;

                  if (i = 1)

                          System.out.println(”i is 0”);

                  }

          }
Select the one correct answer:
a. The code will compile correctly, but will not display any output.
b. The code will compile correctly and will display "i is 0"  when run.
c. The code will not compile because the syntax of the if statement is incorrect.
Feedback

a. This is incorrect. The code will fail to compile because the syntax of the if statement is invalid. The conditional expression of an if statement must be a boolean expression. The expression i = 0 is an arithmetic expression. Try again.
b. This is incorrect. The code will fail to compile because the syntax of the if statement is invalid. The conditional expression of an if statement must be a boolean expression. The expression i = 0 is an arithmetic expression. Try again.
c. This is correct. The conditional expression (i = 1) does not result in a boolean primitive value (i.e. true or false) so the compiler will flag this as an error.
Exercise 2
Fill-in the blank with the appropriate word.
        The                statement consists of nothing but a semicolon.
Feedback


empty: This is correct.

<other>: This is incorrect.

